Y8 Tables and Probabilities
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What do | need to be able

to do?
By the. end of this unit you should be. able to:

» Corstret a sample. space. diggrom
Systematically st outcomes.

:: I
|1 Qutcomes: the result of an event that depends on probabilty I
: : Probabiity: the chance that something wil happen |
I | Set: a colection of objects |
| I Chance: the. kelhood of a particuar outcome |
: : Event: the outcome of a probabity — a set of possible outcomes |
| | Biased: @ bult in error that makes al valves wrong by a certain amount I
: : Union Notation "U” meaning the set made by comparing the elements of two sets :
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: *  Find the probabilty from two-way tavles
| Find the probabilty from Venn diagrams
|

I

I

_______________________________________________ ]
| This s the set :
| Tre. possidle. outcomes from roling a dee notation to Ist the i between the { }are |
| Q ' : outcomes $ = g, the possible |
| 58 1123|456 olteomes |
| 3 = IR |
| Sampl space dogroms provde s~ B 2 —1— |
| systemalic way Lo dsplay g = T | T {aT |37 [4T| a7 |6l S={ I, 20, 3 4H 54, GH, IT, T, 3T, 4T, 5T, 6T} |
: outcomes from events 2= :
r___________________________________________:____:____:____:____:____:____________:____:.I
| Probabilty from sample space \Wht ' the prebabity that on otcome These. o free |
| The. possible cutcomes from roling a dice has an even rumper and  tais? euen/numbers ?22 Nomerator: |
. : - - |
| £ 8 1l2]s]as]e| Mrotex P (Even number and Tak) = 3 e
| < S T o or o 1o notation that _—w — Denominator: |
S H : . f| oA - represents the 12 the total number |
7= )
g £ L @ &l @ LGOI aeston P hbetieentie{ ) There are twelve  of outcomes !
I & 2 the event asked for |
| &= possitle outcomes |
ey T T T I
| Probabilty from two-way tables et || Product Ruke |
Iy
| Cor | Bis | Wak | Totd | P (Gl wak to schoo) = 21 I |
I |0_0 [|  The number The rumber
| Bogs | O 24 14 53 :I of tems in X of ftems in :
: Gis | 6 |20 CR )| 47 N e tod e |: cuert o et b :
to1
at |44 |3 1 et
: o @D — The total numper of tems I |
_________________________________ e ___
|
| Probahitu from Vermn diggrams 100 students were. questioned if they plaed badminton or went to swimming club
| 40 went swimming, A5 wertt to badminton and || went to both

| Ths whoke curve mncludes
| everyore thal werl Ths whole curve. includes
Swimming Badminton everyone. that went to

I
|
I
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| SWimming,
| Becase [l dd botm |~ badminton :
| caculate just swimming by Because 11 did both we P (Just SWImmIYI@) = 29. I
| 40- [ calculate just badminton 100 |
| by 25- Il |
|
The. ntersection ‘ |
: 46 ‘1\ The. number outside represerts those I
! |
|

represents both™ |
Swimming OND badminton that. did netther badmirton or swimming 100 — 29— 1 — 14
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